THREERRE - T UERNERRE XX

#E5R:1/2,500

M

///ﬁx\\/

0 m
? i
142,500

BARABRZDEE RMERtORE

HEBAEE=E 132208A661103029

IR =z

FriE i Hi E T =2 HT

XEDME I, E 130 # B 50000 GhREER) EEALILDTHS.

X & & A Al
[ ] twurenEs
C EBSERNERRS (APERSES) —
BB & BN A 100KN/ mE A 5K
BB IMERR DR
[ | zhesioxs

18 B8 X dgk I3 R <

TERFEDNDKESORT

[TBEFEDNDORES—ERISHE

1/ 2

ERRE




— E&
TEREDHOKRETEI—FER wEaEl . ERAEROBE |AEAEORE
1. TEEDEREEBEDOWRUEESICEYRS =
= ShEXENORABERL LS, | | EEEEAEES  |132208A661103029
(A) BB &5 AHY00KN/ MERRZ B KB DBEEID ) DR ATEKN/ ) (E) HFEZHIMEIBZ D KI DHEFED 1 DB ABUN/ ) <1 BT ~7Y)\ =Y EEMS - ——
(B) (AAS ez iy 1’EFHn'14' LB e a D) m (F) (E)iX o 25 e <k P ?‘é%ﬂwiﬁgd)gé(m? EBNBEZIZEFLZBE L BHESEMICHERS1T AriEh T = ET
(C) B ;67375\100kN/mu‘Fa>|>—_<ﬁa>$z§JJa_)jJa>?N E(kN/ ) (G) HFEBABMLL F ORI OHEIED N DR KEKN/m) DRBAENSEFTTACENTES,
D) OB LHBEMIEAT HBENLTEZDESm) H) (P LHBREMIERTEHEDLRZDESm)
HETHLYFHOLEEDHOAES BEFHEND L EZDNDAES
RAES w
(A) (B) (©) (D) (E) (F) (G) (H) (A) (B) (C) (D) (E) (F) (@) (H)
(1) - - 75.0 1.0 - - 8.4 1.7 - - 75.0 1.0 - - 8.4 1.7

2/ 2

ERRE




